Solutions to Chapters 5-6 Exam Review.notebook

Foundations of Math 11 - Chapter 5 and Chapter 6 Exam Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

C 1. What is the boundary line for the linear inequality y <-2x+ 9?
A) y=-2x+18 ¥ R

' i .
B) y=—4x+ 36 C“"‘“Se 4o an = G\Sn
@ =—2x+9
) x=-2y+18

A 2. Which test point is in the solution set for the linear inequality <

@Gylx+y<3xeW,yewp? (1) X¥Y(3

(1,1) XY 1+

B) (=2, 5) .

©) (2,2) Since 2¢3, (1,1)1s in the

L BN : Lor X+ <3.
e 5 3 Solution s8ei “or N

\3\4 So\‘
A v\ 3. Describ€ the boun&arf lines for the following system of linear inequalities.
<3x+12,yz-xxe RyeR}
(A)) Dashed line along y = 3x + 12; solid line along y = —x
B) Dashed line along y = 3x + 12; dashed line along y = —x
C) Solid line along y = 3x + 12; dashed line along y = —x
D) Solid line along y = 3x + 12; solid line along y = —x
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A 4. A vending machine sells pop and juice.

(&

« The machine holds, at most, 200 cans of drinks.

« Sales from the vending machine show that at least 3 cans of juice are sold for each can of pop.
« Each can of juice sells for $1.50, and each can of pop sells for $1.00.

Let x represent the number of cans of pop.

Let y represent the number of cans of juice.

‘What are the restrictions on x and y?

@xew,yew )

B) xelyel (posihives and neqgotives

0) xeRy<R ( Frochons and decimals)
D) No constraints.

5. Which point in the model below would result in the maximum value of the objective function W= 5y — 10x?

MW= 5y-10% ¢) W=5y-10x
= 5H)-101) = 5(1)-10(-2)
= ;e = 5420
= 10 = 5%
xB)W"‘S‘y—\OX D) W=5y-10X
=5)-10tH) = 5(2)-10Q0)
= 5=HU = 10-10
= =35 = O
A) B(1,4)
B} C(4,1)
A2 1)

D) D(1,2)
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A-, 6. Brent found spidegs and grasshoppers in his barn,

a

» There were at most 12 spiders and at le&st 10 grasshoppers.

« There were no more than 36 spiders and grasshoppers, in total.
Let s represent the number of spiders and let g represent the numbf:r of .grasshoppegs.
Which inequality represents a restriction of s and g based on the given information?

s<12 B) g<12 C) g<10 D) s<10

. Brent found spidegs and grasshoppers in his barn.

* There were at most 15 spiders and at most 20 grasshoppers.

* There were no more than 30 spiders and grasshoppers, in total.

Let s represent the number of spiders and let g represent the number of grasshoppers.
Which inequality represents a restriction of s and g based on the given information?

A) g<30 B) g2 30 ©) g=20 D) g<15

. Audrey notices the number of dogs and people in a dog park.

* There are more people than dogs.

= There are at least 12 dogs.
* There are no more than 40 dogs and people, in total. d TP =40
Let d represent the number of dogs and let p represent the number of people.

Which inequality represents a restriction of d and p based on the given information?

@) d+p =40 B) d+p<40 C) d+pz 40 D) d+p>40
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ety
B-RS
M\S = - 3 O:\O
y < ’15
* Ve’ g
.(l‘d Y * ?)e" \\Q_,
Ne 3 =y \
(_'151 Q\_, ?/Q/
_t SL,}l\*\
P
Axis of Symmetry Vertex Domain Range
@ x=3 G.2) xeR V22
B. x=3 (2,3) xeR yveR
i x—2 23 —1<x<7 y22
D. x=3 B.2) 2<x<8 ¥y 20
A) SetA
B) SetC
C) SetD
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A

A

LD

What are the x- and y-intercepts for the function y =x* —2x—8? ~‘-\)€

i ,‘ J\ 2 _ \ 2 = p—
@x:,z,xzzg,y:_g *¥ \o ‘C\T\é \\ X “2:‘("8—@ Exé=—gg
B) x=-2,x=2,y=-8 x-ints ... FACTOR (X.*.Q_)(X-*”i)zo i’
C) no x-intercepts, y = —8 -0 OY x-4 =0
D) x=—4,x=4,y=-8 A¥2.=0
x ,x=4,y X__,__z X:L[.

The points (-2, 4) and (1, 4) are located on the same parabola, What is the equation for the axis of symmetry
i ? e ; : . .
fordis parabola?  —Tg Lind equotion of axis of symmetry.

@) x=-05 X=-2+1
B) x=-1 - B
C) x=05 Z
D) x=-15 x= =L or -0.35
_ =
Solvex’ +5x+4=0 by factoring. \ ﬁl L_}
2 -..:O —— X-—-r-:
A) x=-5,x=-1 REEEX Y _
e Cxar xrH)=0 - =
©) 7=—hx=1 X+1=0 oy x++4=0

K==\ XK=
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L — — _‘2.) 2) —
B 13. Solve x* - 10x — 24 = 0 by factoring. X = 10X . - i"“—‘ 214

(x=\2)(X¥2)=0 212+2 =-10

A =-8,x=-3 -
§=—2,i=12 X=12=0 oY X+2=0

) x=2,x=-12 - = -

D) x=-6,x=-4 x=12 A==

_B_ 14. Solve 100x” - 121 = 0 by factoring. 100 X>= 121=0

A) x=10,x=-11 (lox-11) ox+1) =0
@ﬁﬁgﬁ_g 10%X-1\1=0 or {\OX +11=0
g ox=l - gx=-ll

X=X =3 '!.LOL Ve) 10
D) x=11,x=—11 W = e )<=-"T%=
B 15. Which set of data is correct for the quadratic relation Ax) = —2(x — 12)" + 15?2
Direction parabola opens Vertex Axis of Symmetry

A. downward (15,-12) x=15

(B) | downward (12, 15) x=12

, B upward (12, 15) x=-12

D. upward (15,12) x=15

A) SetD. |
(B) L, Wotch Orvder.

el A.

D) SetC.
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A 16, Which quadratic function epresens his paabola? B{D P
: @) ao
1 wﬂ}‘f"’ qef*‘ \,tfi'}
‘ ;_;,L.';..‘._If NI
@ ={x-27+1
y= -(:+211 1
C) y=(x- 2}+|
D y= ~Hx+2F+1 _
e C'—'i
.tD_ 17. Solve 2x’ = 3x + | = 0 using the quadratic formula. a=2,0D _}f__
AY et %= -bt bﬂ' Hac
x= |x=—i
P e txmeg /___QM
<) x=-1 x"-]- 1@
®.-1. x=32N2-8
x=1z= = 2
A= JXNL
L}
~ = 3tAL
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B_ 18. Solve 9x* + 6x + 1 = 0 using the quadratic formula. ~ O= 9 5 t) e G:) 3 e B i

=78 x= -bE JB-Hac
3
2.0
- X=—6 T J(EHEXD
0) x=09x=—% ,’)__G}) . ﬂ:_
Dy 1 =-é_j:\J66“36
x—O,x——B- =i 36
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19. Graph the solution set for the following system of inequalities.
{(x,))|x+5y <5, y+5>x,x « R,y € R}

E uations of boundary lines?
-+ c'lfc+57 =5 (Solid) - zj-\-‘5=>( Qashed)

X-int y-int- X-inyr y—int t
+5(0)=5 0+5y=> O+5=X \JH-S-=-O :
X=5 =_55_ 5=X 3
y=1 Test Point ;(0,0)
“Test Point; (0,0) LS. + RS
L R.S Yy+5 X
=1 &
+5(0) 8 i
> fore OO%T
50 S

Frerefore (0C) 1S olution region.
gfedin-\-he Gb\iﬂ'lhl\mﬂ’\- S‘, \ & D

=0 =
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20. Jennifer has two summer jobs.
« She works no more than a total of 40 h a week.
Both jobs allow her to have flexible hours but in whole hours only.
« At the ice cream shop, Jennifer works no less than 18 h and earns $10.00/h.
« At the pool, Jennifer works no more than 20 h and earns $10.75/h.

List the Defining Statements.
(erx e s;.re-scn-\- 1he 3 of heurs ennifer wor Ks at-the icecream shoy
‘@-_Y_tr_p:cscn-i- the # of hours Uennifer works at the pool.

let B reoresent her +otal eorniw&ﬂ.

List the restrictions.

X EW , \yEW
List the constraintst.f
X218

N =20

Aty £ =

State the objective function.

E =10.00%+ 10.‘!5};

I
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21. Solvelz®-lx-5=1 using the quadratic formula. State the solution as exact values.

=1, b=-1,c=-5
X=-bEVb>~4ac
2.q -
n= | £ NEZA0)E)
26
x= |t \]+20
2.

x= 1 X \I%|

3
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22. Solve 2x* + 8x + 2 = 0 using the quadratic formula. State the solution as exact values.
a=2), b=S8 9. G 2

~ = -bt JbAdac

2a

n = =8 T\ [()24C2)2)
2(2)

B ] N 641G

.q.
X= -8+ {48
<
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h K X
23. A parabola with the vertex (~7, —2) passes through the point (9. 10). .
Determine the equation for this parabola. Express your final answer in vertex form.

' _alx—=1-2
\/: O(X“\"'-f)z“z’

10= 4a-2
10 +2 = 4aQ
12 = Fa
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